]
b

VDC
c1o qu{mo CJI 10\41210 CL c23 041 22 47uFLz|o Lzs
ci4 cis cig c19 c20
10uF/1210 C16 10uF/1210 C17  0.1uF/0805 f— e —— Cco4 470F[1210  47uF[1210  47uF/1210  47uF[1210 47uF[1210  CZ5 47uF/1210 1uF/{206
1UF/{206  1uF/{206 1uF/{206  1uF/1206 veet RBR1VWMBOATFTR D2
< 5VGND|
GND >4 o o

TEST POINT

5.

R13

5.1E/1210

D3

1E/1210

C:

29
C28
10uF/120% 0.1uf/0603

R8
0E/0603

POINT

R12

TP22

TEST POINT

Q3
LOD>——¢
5.1E/1210
TP25 R15
10K/0603
D*7 <cst
TEST POINT GND3 R16 R17
50mE 50mE
GND
U3
veet T oo Ho H———Kor
c39 6
c40 EN NC % c42
1UF/0603 7 i 3 0.1UF/0805
1nFiosod !> HI HB
[I[)> S—N E HS 4§4444444444444:1:44<<HS
GND>>— ‘ 9l vss Lo 1% —o1

BZX38450-C5V1X 4

GNDY)—

R24
10k/0603

VDIV

R26
10k/0603

2 uccar2s20DRCRQN

R23
10k/0603

R25
10k/0603

GND)}j

U4
VDIV
NC 5
N c45
vl it 1uF/0603
GND
Lo
SN74LVC1G14QDCKRQ1

D4
] S {vDD1
RBR1VWMEOATFTR
cat
—— c3
0.1u/0603  10uF/1206
: K 5VGND
< 5VGND
GND cas cas
1UF/0803 1UF/0603
veet 1 16 oD
> VDD1 vDD2 KV
GND3 2| GNp1A GND2A |12 < 5VGND
o8 3 vReet  vmegz 14—C% <5v0C
1uFI0603%—*-| REFOUT!  REFOUT |12 1UF/0603 R18
. » 40k/0603
R19 GND>——— NC +IN
FB1 6 1
> EAOUT2 N
0E/0603 - 7| eaout cowp |10 R2J. 100K/0603 }c43
P 8 9
GND GND1 GND2 2K 5VaN C44  1nF/0603 Ro2
ADUM3190WTRQZ } } 13k/0603
200pF/0603
< 5VGND




